
 Wederive theformulaforthe angular deflection oflight assumingitfeels force

É GER
We

suppose
thelightcomes inwith noventum p and leaveswithnorentum

p andmakes its closest approach atdistance b

it Yp

By
conservation ofenergy at infinity we knowthat Ifl If't

Tus if he label the deflection angle 0 behave an isosceles

triangle

Iff lap l



andthuswehavethe relationship
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thisis relevant as we can compete Df another way namely
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Based on our diagram we can seethat the vertical componentsofthe
forcewill cancel in the integralforthe impulse Thus theintegral reducesto

IBP l f 91,5cosodt GMEfgg.ptdo
Out

Next he can use conservation ofangularmomentum to substitute

l E r lot of bp
where lis the angularnorentum and bp istheangularnoretum on
shortestapproach Performing this substitution wehave
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Next from thediagram we can seethat thedeflectionangle Q isgivenby
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We now use E p replace factors ofc andTaylorexpand
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